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When (7777 + 77) is divided by 78, the remainder is:

(A) 75 (B)74 (C)r7 (D)76
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A man divided his journey into three parts of distances of 18 km. 20 km and 27 km. He travelled the distances at the

speeds of 6 km’h, 5 km'h and 9 kmvh, respectively. What was his average speed during the entire journey?

(A)75km/h  (B)55km/h  (C)6.5 km/h (D)4.5 km/h
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(A3 (B)S (C) 6 (D)4
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On selling a bike for <2500 a seller incurs a loss of 20%. What price would have caused him to lose 30%?

(A)21865  (B)2187.5 (C) 21885.5 (D)2188.5

Class Time :- 9:00 AM



http://www.mahendras.org/

/@ Watiendra’'s / / FOR MQRE DISCOUNT VISIT WWw.mahendras.org & USE PROMO CODE : E04613 /
/

~

If 3sec’ x—4 = O. then the value of x (0 < x < 90°)

(A)45°  (B)15° (C)30° (D)60 °
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XYZ is a triangle. If the medians ZI and YM intersect each other at G, then
(Area of AGLM : Area of AXYZ) is:

(A) 1:14

(B)1:10 (C)1:12 (D)1:11

Class Time :- 9:00 AM



http://www.mahendras.org/

/ Watiendna’s / / FOR MQRE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E04613 /
- N

(A)83m (B)82m (C)84m (D)85m
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tan 60°—tan 15°

Find the value of : —,
1+tan 60°tan 15°

(A1 (B)1A?2 (C)1/2 (D)V3/2
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(A)10%  (B) 9% (C)8% (D)7%
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The average of the runs of a cricket player in 20 matches is 35. If the average of the first 12

matches is 45, find the average qf th Iast8 atches.
ﬁ%%’ﬂéﬁl@% 35 81 9fe ugel 12 A &7 3 Id 45 8, ol

(A)18  (B)16 (C) 20 (D)22
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In how many years will the simple interest on a sum of money be equal to the principle at

rgﬁétei T 4 ol <111 TR TSRO TS 12 2/4% v ad ® R | YA & W

(A8 (B)S (C)7 (D)6
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30 men working 8 hours per day can dig a pond In 16 days. By working how many hours per

day can 32 men dlgtw same pon , 1N a s
30 ﬁ@g 16 WWS 32
a%mw%a‘rmﬁ %ﬁz %

(A7hrid  (B)Shr/d (C) 8hr /d (D)6hr/d
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In the given figurs, O is the centre of the circle. Its two chords AB and CD intersect each other at the peiut P within the
circle. ITAB =15 ¢m, PB =9 cm, CP= 3 ¢m, then find the length of PD.

(A)lecm  (B)20cm (C)18cm (D)22cm
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Find the value of 2.1 + 2.25 + [63 — {7.5 X 8 + (13-2.5 x 5)}].

(A)2.8  (B)2.9 (C) 3.0 (D)3.1
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Ifa + b = 11 and ab = 15, then " + 5" is equal to:

(A)90  (B)91 (C)93 (D)92
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3600 is divided between Seema, Komal and Rita, such that the ratios of the shares of Seema:
Komal =1.5: 2 and Korgﬁ% Rita = 2:2.5. FInd Rita's share.

: & gig ISGREEL fo - HIHA =
395202%: = 2?2121% ﬁuﬁ%@mﬂﬁmw%w%%@n e

(A)1300  (B)1500 (C) 1200 (D)1400
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POQR is an isosceles wriangle such that PQ = QR = 10 cm and A PQR = 907 . What is the length of the perpendicular drawn
from Q on PR?

(A5N2  (B)7+2 (C)4 2 (D)6 2

Class Time :- 9:00 AM
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If 4cos” 8-3sin° 8+2 =0, then the value of tané is (where0 < 8 < 90°)

(A)\V2  (B)V6 (C)1/ 3 (D)1
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Ifa-b = 4 anda® —b® = 88 . then find the value of a°> — b?.

(A)8V6  (B)66 (C)7 6 (D)9 6
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A runner is running at a speed of 40 km/h. If he runs at a speed of 30 km/h, then what will

the decrease in_the percentage of his speed be? .
TP YT 40 @ﬁﬁéﬁ%ﬁ%mﬁa@m%ﬁmaﬁﬂﬁﬁa@m%ﬁ

(A)15%

(B)20% (C)25% (D)30%
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Ram sold a motorcycle for 70000 at 25% profit. For what price should he sell a motorcycle to
gain 30% profit?

% wrhegn aﬂa;:ra?g%(%)%w mywamlsovomummﬁﬁ?maﬁ

(A)72900  (B)72600 (C) 72800 (D)72700
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The average age of 25 men is 28 years. 5 new men of an average age of 25 years joined them. Find
the average Age.of all the men t her
lﬁ'w% \%'a?r | 25 a?aﬁwangaiswwtﬁﬁmﬁmgql
DI TP ATY gﬁaa
(A)26.5 (B) 28.5 (C)29.5 (D)27.5
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The least value of 8cosec®8 + 25sin°8 is:

~

(A)10 V2

(B)40 2 (C)20 2 (D)30 V2
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Richa travels from A to B at the speed of 15 km/h, from B to Cat 20 km/h, and from C to D N
at 30k AB BC-CD, then f| S ayverage spe

%;? wﬁ R Rt o e o
W 30 | trfEAB BC—CD

(A) 17km/h (B)19km/h (C)20km/h (D)18km/h
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When a positive integer is divided by d, the remainder is 15. When ten times of the
same number is divided by d. the remainder is 6. The least possible value of d is:

WWH%%%W%&TW% dl AGE 15 YT ST ¢ | 5T S HWAT & &7 o

=\

P d § RIUTRIT 6T SITaT 21 9P 6 8| d BT TdH SHd T 2:
(A)9 (B)16 (C)18 (D)12
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Reema sold 48 articles for¥ 2,
2, 016toe rnap O%-T 12%7?

0%

60a dsuffered loss of 1Q%. How many articl
1 48 1 Sliél
U2, 016 1%»—«|=ﬁ i%ﬁ"ﬁé@

<

s should she sell for ¥
| 12% P1

(A)36  (B)40 (C)28

(D)32
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-
What x is added to each of 10, 16, 22 and 32, the numbers so obtained in this order are in

proportion? What is the mean proportional between the numbers (x + 1) and (3x+ 1)?

(A)12  (B)9 (C)15 (D)10
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The average of some numbers is 54.6. If 75% of the numbers are increased by 5.6 each, and the rest
are decreased by 8.4 each, then hai?the average of the numbers so_obtaine

qwiﬁ'_‘{ggﬁmﬁugﬁ%tﬁ GT%%-H?[W ﬁ566§§%ﬁﬂl?ﬁ%

(A)55.6  (B)55.8 (C)56.7 (D)56.3
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If Scos@—-12sin& =0 , then what is the value
l1+sin & +cos &
of -
l1—sin& +cosé&
(A)5/4 (B)3/2 (C) 3/4 (D)5/2
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If the radius of a right circular cylinder is decreased by 10%, and the height is increased by 20%, then

percentageln rease/decrease in its yolume is
wﬁﬂ%%m%ﬁ@ﬁW% 3R TS § 20% P gfg

(a)inc 2.8% (b)Dec1.8% (c)inc1.8% (d)Dec 2.8%
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If - 2. /s~+=1=0 , then what is the value of A

1

.1’5 -y — ?
&

(a)610V5 (b)406v5 (c)408VS5 (d)612V5
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If the nine-digit number 708x6y8z9 is divisible by 99, then what is the value of x + y + z?

(A5 (B)27 (C) 16 (D)9
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1 -
If S€ecO —tan© — then find the value of q2 1
~ Q- + 1

(A)cos 6 (B)cosec 6 O 1 (D)sin ©

Class Time :- 9:00 AM
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/A boat covers 12 km upstream and 36 km downstream in 4 hours, while it covers 24 km upstream N

and 54 km down tre min 7 hqurs. Find the speed of t atm éwater@?
RS R e R
54 %arﬂw7

%rm% | maﬁﬁqﬁ
oTet JATd
(A)8Kkmph (B)lOkmph (C) 12kmph (D)15kmph \
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http://www.mahendras.org/

//\ Watiendra’'s / / FOR MQRE DISCOUNT VISIT Www.mahendras.org & USE PROMO CODE : E04613 /

<

From the top of a building 120 m. high the angles of depression of the top and the bottom of a
tower are observed to be 300 and 600. Find the height of the tawer(in meter). .
wm%w 120,51 %%amﬁvﬁmm

$I0T 300 3R 600 AP | lﬂqrv ﬁ%ﬁ%ﬁ%wﬁ?ﬂl

(A)40  (B)6O (C)80 (D)100
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/One shopkeeper calculates the percentage of profit on the buying price and another calculates on N
selling price. When their selling prices are the same, then the difference of their actual profit is Rs.
95 and both claim to have made 20% profit. What is the selling price

each?
ki Y Yo X AT b Uiard : x’:ﬁ'\’ IGED R (SR
Wzot/%ﬁmgwél agrqﬁmm% a7 .95

(A)1900  (B)2100 (C)2850 (D)2750
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4 I
Tushar can row three quarter of a km against the streamin 11 1/4 minutes and down the stream in
3.75 m|n the speed of the current ?

@_‘%? %? %Q‘? ‘JRT%‘WH 1/4 foFe § 3R YRT& <RI 3.75
Y PhX | YIRT
(A) 8kmph (B) 4kmph (C) 6kmph (D)2kmph
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For what value of k, will the roots of the equation kx?-5x+6=0 be in the ratio of 2 : 3?

k@ fT a1 & T BT kx-5x+6=0 b T 2:3 & UTT H BIT1?

(A0 (Bl (C)-1 (D)2
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Two circle C (O, r) and C' (O', r1) intersect each other at P and Q respectively. OO' cut common chord

at M such that QQ =17 cm and OM = 15 cm then find the length of PQ C(O,r) C' (O]
1) Th mz%ﬁv R W&%IOO' IHAMEY SfigT I M TR
UHR PlcT [ 0Q=17 OM =15 JHT, df PQ P FaTS T l

(A)8cm (B)12cm (C) 18cm (D)16cm
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A shopkeeper offers a discount Of 28% on the marked price of an item and thus ends up selling at
cost price. By what ercen%ge is the marked price greater than %hgﬁ_\rst price?

Uch GPGR R 28% 2 UhR hd Yo W {aehl
g AT 3| ngohqli %%tn‘?ma -

(A)18.25%  (B)22% (C)38.88% (D)28%
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If X2 + (1/x2) = 23 and x > 0, then what is the
value of x + (1/x) ?

(AL (B)2 (C)5 (D)6
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If VX + 1/Vx = V6 then find the value of x® + 1/x®.

(A)1664  (B)1525 (C)1662 (D)2702
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If 672xy is divisible by 3, 7, and 11 then find the value of 6x + 5y.

(A) 17

(B)15

(C)21 (D)18

Class Time :- 9:00 AM



http://www.mahendras.org/

/r<; Watiendra’'s / / FOR MQRE DISCOUNT VISIT Www.mahendras.org & USE PROMO CODE : E04613 /

/AandBcandoa piece of work in 30 days and 45 days respectively. After working together for 10 )
days, B left and then A and C together completed the remaining work in next 10 days. In how many

days can C alone lete the same work?
Aﬁﬁ?BW 1 HIRT: 30 e'lfsh 5 e d R gl1QfeAi s s
Hapa Dol SRl
(A) 80 (B)60 (C)72 (D)90
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